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Question Number : 1 Question Id : 7559051381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following statements 13 FALSE with respect to when vou link Microsoft Excel data to a Word document?

Options:
1. %

In this process. the Word document automatically gets updated when data in MS Excel changes.

-~ % [Ihe destination file contains only a reference point to the source file.

3
It is not necessary in this setup for the source file to always be available to provide data for the destination file.

When von edif the linked data, vou actually open the source applicazion and file and all editing is dope in the ource file.

Question Number : 1 Question Id : 7559051381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 2 Question Id : 7559051382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following groups of the Insert tab contains the Action button in MS PowerPoint 20167

Options:
1 #% Media

> « Links



5 % Images

4 % Illustrations

Question Number : 2 Question Id : 7559051382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 3 Question Id : 7559051383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following IT companies has the slogan ‘THINK’?

Options:
1 « IBM
> % Microsoft

= % Sun Solaris

4 % Apple Macintosh

Question Number : 3 Question Id : 7559051383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 « IBM
> % Microsoft

= % 3Sun Solaris



4 » Apple Macintosh

Question Number : 4 Question Id : 7559051384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following devices was used in the first generation of computers?

Options:
, % Magnetic tape

5 % Microprocessor
5 « Vacuum tube

4 % Processor

Question Number : 4 Question Id : 7559051384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 5 Question Id : 7559051385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

iPhone contains operating system.
Options:

1 # Linux

Android

rJ
®

- % Symbian

4 o 10S



Question Number : 5 Question Id : 7559051385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

iPhone & e fawer gl
Options:

1 # Linux

- % Android
- % Symbian

4 ¢ i0S

Question Number : 6 Question Id : 7559051386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which one among the following is NOT an operating system management task?

Options:
1 ® Process management

5 % Memory management

- » File management

4 Converting a program to executable

Question Number : 6 Question Id : 7559051386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 7 Question Id : 7559051387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In an Operating System, PCB stands for
Options:
|  Process control block

> % procedure control board
5 % process common board

4 % procedure common board

Question Number : 7 Question Id : 7559051387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

L process control block (FfFar fRa=oT =)

, « Procedure control board (afsFar fAT=or &)
,  Process common board (3 &1 wfeam)

0 procedure common board (93T 37 919)

Question Number : 8 Question Id : 7559051388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
B2C. C2C and B2B are types of .

Options:
1 & €-Comumerce

> % e-mail
= % e-cash

4 % protocol

Question Number : 8 Question Id : 7559051388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 9 Question Id : 7559051389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the odd one out?

Options:
1 % Control unit

> w Arithmetic logic unit
5 # Registers

4 « Printer

Question Number : 9 Question Id : 7559051389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 10 Question Id : 7559051390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A computer port is used for which of the following?
Options:

| « Tocommunicate with other computer peripherals.



- % To download files from the web.

- % Tocommunicate with only hard drives.

4 % 71O connect computers together.

Question Number : 10 Question Id : 7559051390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 11 Question Id : 7559051391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The connection between a computer and its peripherals is done through

Options:
| & port

> % bus
3 # I/O device

4 % connecting device

Question Number : 11 Question Id : 7559051391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 12 Question Id : 7559051392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a popular web search engine used worldwide?

Options:
1 % Intel

>  Google

5 = Apple

g4 B WWW

Question Number : 12 Question Id : 7559051392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1 # Intel

.,  Google

= » Apple

L% WWW

Question Number : 13 Question Id : 7559051393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is true for IP Address?

Options:
, % Internet process address

-  Internet protocol address

- » Internet provider address



, % Internet packet address

Question Number : 13 Question Id : 7559051393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 14 Question Id : 7559051394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What does the abbreviation ‘“WWW~ stand for?
Options:

1 « World wide web

o # Wide wipe web
% % World width web

4 % World with web

Question Number : 14 Question Id : 7559051394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
aferea | WWW' T 907 9 &7 72
Options:

. » World wide web (35 aT$s a¥)

, » Wide wipe web (I8 a9 d9)

World width web (Fe5 a3y 39)

g,

, = World with web (5 f&er 39)



Question Number : 15 Question Id : 7559051395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Internet stands for

Options:
1 # intercontinental network

> « international network
= % internal network

4 % intercom network

Question Number : 15 Question Id : 7559051395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 16 Question Id : 7559051396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT true about computer files?

Options:
, % They are collections of data saved to a storage medium.

» w Every file has a file name.

5  Afile extension is defined by the user to indicate the files content.

4 = Filesusually contain data.

Question Number : 16 Question Id : 7559051396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 17 Question Id : 7559051397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Meaningtul file names help in easy file

Options:
1 ® storing

o % accessing
= « identification

4 % Dprinting

Question Number : 17 Question Id : 7559051397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 18 Question Id : 7559051398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which ribbon shows what fonts are available for use in MS Word 20132



Options:
1 % View

- » Pagelayout
= # Reference

4 + Home

Question Number : 18 Question Id : 7559051398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 19 Question Id : 7559051399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which ribbon do you need to see the document views that are available in MS Word 20137

Options:
1 % Insert

> « View

- » Pagelayout

4 % Home

Question Number : 19 Question Id : 7559051399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 20 Question Id : 7559051400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which of the following, several computers are linked to a server to share programs and storage space?

Options:
1 « Network

» % Grouping

- % Library

4 % Integrated system

Question Number : 20 Question Id : 7559051400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 21 Question Id : 7559051401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following displays the contents of the active cell in Excel?

Options:
1 #% Name box

- % Row headings



= « Formula bar

4 % Taskpane

Question Number : 21 Question Id : 7559051401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 22 Question Id : 7559051402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which command in Windows 10 Pro is used to launch the print management console?

Options:
| % Print management.exe

- % Print management.conso

5  Print management.msc

4, % Launch print management.msc

Question Number : 22 Question Id : 7559051402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
| % Print management.exe

- % Print management.conso



5  Print management.msc

4 % Launch print management.msc

Question Number : 23 Question Id : 7559051403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
After selecting which position will the drop cap be returned to normal text in a Word document?

Options:
, » Dropped

-~ % Format
= « None

4 ® Edit

Question Number : 23 Question Id : 7559051403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, = Dropped

- #% Format
= « None

. = Edit

Question Number : 24 Question Id : 7559051404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which function of the MS Word 2010 is related with *dropped’ in the position options?

Options:
1 #% Remove
> % Format

5 Drop cap

4 ® Edit



Question Number : 24 Question Id : 7559051404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 25 Question Id : 7559051405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to move down one paragraph in MS Power Point?

Options:
1 * DOWN ARROW

> « CTRL + DOWN ARROW
= % SHIFT + DOWN ARROW

4 % ALT +DOWN ARROW

Question Number : 25 Question Id : 7559051405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS PowerPoint # T& WEME Fr I & fow i wais= &= 272

Options:

. » DOWN ARROW

., v CTRL + DOWN ARROW
- « SHIFT + DOWN ARROW

. % ALT + DOWN ARROW

Question Number : 26 Question Id : 7559051406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the key combination to change the pointer to an eraser in MS Power Point?

Options:
i # ALT+P+E

5 « CTRL+E
= % ALT+E

4 # CTRL+P +E

Question Number : 26 Question Id : 7559051406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, %« ALT+P +E

. ¢ CTRL + E
2 % ALT + E

4% CTRL+P +E

Question Number : 27 Question Id : 7559051407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to broadcast the open presentation to a remote audience using the PowerPoint web

application in MS Power Point?

Options:
i # CTRL+F2

> % Alt+F2
s v CTRL +F5

4 % Alt+F5

Question Number : 27 Question Id : 7559051407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint #, 9rSidize 39 90T & 39UFT 1 gl & g9 & B gt segfa &1 gwfta
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Options:



, ® CTRL + F2
> % Alt + F2
- v CTRL + F5

. % Alt + F5

Question Number : 28 Question Id : 7559051408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
allows you to import existing charts from Excel to PowerPoint presentation progranunatically in MS Excel.

Options:
, % Update

-  Visual Basic Application

4 % Copy

Question Number : 28 Question Id : 7559051408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % 3UST (Update)
, « T (Link)
ey ﬁzgm i3 ToeieRer (Visual Basic Application)

, » ®rr (Copy)

Question Number : 29 Question Id : 7559051409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

are useful for quickly creating unweighted cross tabulations.
Options:
1 # Macros



- % Charts
= % Functions

4 « Pivot tables

Question Number : 29 Question Id : 7559051409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 30 Question Id : 7559051410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Pivot tables are useful for:
Options:

, w creating image manipulation tasks

- % understanding of small quantities of data
-  Creating unweighted cross tabulations

, % Ccreating forms to capture information and save the contents as a file

Question Number : 30 Question Id : 7559051410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 31 Question Id : 7559051411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If we drag a field to the row labels area and column labels area. we can create:

Options:
,  2two - dimensional pivot

- % athree - dimensional pivot

- % aone - dimensional pivot

4 % charts

Question Number : 31 Question Id : 7559051411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

- e

1
o # TH-ATATET TEe
= % UH-HOTAT Mae

4 % TME

Question Number : 32 Question Id : 7559051412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When a table is used for pivot table, it has to be with your data.

Options:
, w copied

> % replaced

-  Synced



4 % encoded

Question Number : 32 Question Id : 7559051412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 33 Question Id : 7559051413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A user may a server's security measures by finding an alternate path of gaining access to the server.

Options:
,  bypass

- % corrupt

= % crash

4 % scan

Question Number : 33 Question Id : 7559051413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 34 Question Id : 7559051414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A web browser may the access to a website or at least warn the users that the certificate of the website has

expired.
Options:
| deny

> # intrude
z % allow

4 % hack

Question Number : 34 Question Id : 7559051414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 35 Question Id : 7559051415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the most appropriate option with respect to the following sentence.

You can also select any picture that vou find on the internet/web as desktop background.
Options:

1« True

- # False

5 » Applicable for Windows OS only

4 % Can’t say



Question Number : 35 Question Id : 7559051415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

%U%'Q'dlﬂ'-li & wraey # Refafld # & §99 399%d [Seod T4
T STFHET To3fH F T A FHA/AT T 3 off IFEN g&d g 39 of I T 2|
Options:

1.@»“-‘:@'

> % dleld

. » Pl &S HTH (Windows OS) & forw & =] &1 &

, w T8l ST Hehd

Question Number : 36 Question Id : 7559051416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How can one open the Windows menu using the keys on the keyboard?

Options:

; « ALT + Spacebar

> % CTRL + SHIFT ~+ Spacebar
5 » CTRL + Spacebar

4 % CTRL +ALT + Spacebar

Question Number : 36 Question Id : 7559051416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FHeATace T FHoll T 3TART T [IET el F FH Trem AT g2
Options:

, « ALT + Spacebar
- » CTRL + SHIFT + Spacebar
5 » CTRL + Spacebar

4 » CTRL + ALT + Spacebar



Question Number : 37 Question Id : 7559051417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
kev cryptography algorithms are also called symmetric encryption.

Options:
1« Secret

- % Personal
= % Shared

4 % Universal

Question Number : 37 Question Id : 7559051417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tl fFeeiamdr Tealives & FAHT Tleweerd off Fa1 e ¢l

Options:

1.9 2

Question Number : 38 Question Id : 7559051418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Depending on a computers power usage, select the option from greatest to least power consumption.
Options:

1 Heavy use, light use. idle, standby, hibernate

5 ® Hibernate, light use, idle, turned off

5 » Heavy use, light use, idle, hibernate. standby

, w Heavy use. light use, hibernate. standby. idle

Question Number : 38 Question Id : 7559051418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Feuet # e F 39 & HUR W 35 THEhd 39T # ~4AoA SEgd 39T 4 6 e A @
T4 hiaAT|
Options:

| H 3R, gew 3, AR, Fsad, gEee

- gIEatae, goor 3T, AfSwT, 9

Question Number : 39 Question Id : 7559051419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the name of the computer layer that stands between hardware and software?

Options:

, w» Hardware configuration

> % Operating environment
5  Operating system

4 % System environment

Question Number : 39 Question Id : 7559051419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
gEa 3R WiFeax & &I A aTell Feged O & F4T A7 g2

Options:

| % ETEIW HHEE

L x TR FHEEHAS
szmﬁm

, « THECH SAITEHC

Question Number : 40 Question Id : 7559051420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



An unreachable code would be best found using:
Options:
, % Acoverage tool

> % Code inspection
5 % A test management tool

4 « Code reviews

Question Number : 40 Question Id : 7559051420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HITT T HT HFEST 3TN FIF e TaH HTOT g
Options:

| % T Halsl 39T

- % OLIETUT G 39HI0T

4_3@?%

Question Number : 41 Question Id : 7559051421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a feature of a browser?

Options:
, » Navigation

- % Downloading

5 » Bookmarking

4 « File conversion

Question Number : 41 Question Id : 7559051421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fef@a 7 @ Far s3eT & Fodwar 7867 872

Options:



| % SR FIAT

> % SI3ACIS HLAl

= B 9
, » TISE e

Question Number : 42 Question Id : 7559051422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Can you see the time remaining to compete the downloading when vou wish to download a file?

Options:
1 & Yes

~ % No
5 % Yes, Only in Chrome browser

4 % Yes, Only in Firefox browser

Question Number : 42 Question Id : 7559051422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T FISST SBAAS FIAT TEd g al SBAAE FT F [OT 9Y §AY 3T WFg 87

Options:

e

1

M2
®

2 ® g1, 3T Chrome §3=T &

., % B, %ae Firefox sE3aR &

Question Number : 43 Question Id : 7559051423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is used for data transmissions and wireless operations?

Options:
, % LED



> " Antenna
= % Port

4 % Power cable

Question Number : 43 Question Id : 7559051423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

=@ 7 @ fFaesr 393 3er gt 3R aaey Avee & e & s 22
Options:

, » LED
2. v e
o ® tﬂé—

4 % TTaGT HEA

Question Number : 44 Question Id : 7559051424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Under specific address elements in the Insert Address block dialogue box there is/are option(s).
Options:

1 ® 1

|-

o W

4 ¢ 4

Question Number : 44 Question Id : 7559051424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
'TSH S7HC F{ solieh T giad F 'T3F Ulode Afese #T & 3aEa Beew (Reeh) Fr gE
et @ 2(@)?

Options:

1.3-’31
2.%-32

3_%-’-53



4 4

Question Number : 45 Question Id : 7559051425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The web services are offered using the concept of computing.

Options:

|« utility

o w pervasive
- % ubiquitous

4 % DNA

Question Number : 45 Question Id : 7559051425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
SEd a9 #aC YO T JIT FIar g1

Options:

|, ST degfe

OT9 Fogiea
% ® £~

iy =

L o
<dldl=en en-4ice]

o R

. DNA segféer
4. ~

Question Number : 46 Question Id : 7559051426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the difference between TTF and OTE?
Options:

, # [TTF is not more popular than OTF.

~ » [ITF are not much easier when compared to OTF.
5 % Thenumber of TTF is not much bigger than OTF.

4  OTF was based on the part of TTF, which is relatively an older version.



Question Number : 46 Question Id : 7559051426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
s (TTF) 3T 38Tw (OTF) &F &= 27 36T 87

Options:

., » TTF, OTF & =T @hiog T &

,  OTF & ol & TTF SaeT S 4l &1

, OTF & geem & TTF & §eam aga 99 =@ 81

=

oo OLE; THF * 37 fred o amarfia o, S et U T HEROT g

Question Number : 47 Question Id : 7559051427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which one of the following listed below is in superscript?
Options:

, w Denominators of diagonal fractions

4, » Representation of variables of electron neutron v, .v;

Question Number : 47 Question Id : 7559051427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
o gl & @ #iF @ gwisee # 2
Options:

|« T B & SR
2.\?;-}{2-1-‘{5

- u H30

e Selagled #OgIeT Ve, Vi & I & Fiafater



Question Number : 48 Question Id : 7559051428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
From where in your document will you find the multilevel list?

Options:

, » Inediting area

5 of Present In Paragraph area

= % In illustration

4 % Mentioned on font area

Question Number : 48 Question Id : 7559051428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
HI STFgHT H 3T Eg{-ﬁi‘m foree T FerEf?
Options:

> v WE & A
s & SO H

. Bl 8T & 39 2 &

4

Question Number : 49 Question Id : 7559051429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following CPUs does NOT communicate with other units of a digital computer?

Options:
{ = Memory umt

> % Inputunit

5 % Output unit

4V Register unit

Question Number : 49 Question Id : 7559051429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Tea § ¥ #iF @ Oy v BfEee Fege &1 377 A F Y Tq9E A A 82
Options:

A7 AA AT (Memory unit)
5 % 3 g2 (Input unit)

.y HEEIE I (Output unit)

. v USeT 397E (Register unit)

Question Number : 50 Question Id : 7559051430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which keys are used to move to the previous option?

Options:
1 % CIRL +LEFT ARROW

> % ALT +TAB
- « SHIFT + TAB

4 # CTRL +TAB

Question Number : 50 Question Id : 7559051430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

R Reer W o= & BT 5= et & swaer G s 22

Options:

, » CTRL + LEFT ARROW
. % ALT + TAB
- v SHIFT + TAB

. % CTRL + TAB

Question Number : 51 Question Id : 7559051431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How is power supplied to a low-power USB device?

Options:



, % Through a power cable.

- u From an external power supply.
- » Directly from the computer's power supply.

4  Through the USB cable.

Question Number : 51 Question Id : 7559051431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FH-AFT USB Rarsw X Rl #7 3fa & & adr 22

Options:

, % TF UER heel & ATT T

T R & st ¥

e e Hr R smfa ®

o R

4 v USB & & ATewH |

Question Number : 52 Question Id : 7559051432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the correct option to fill in the blank.

Modern are electronic devices that can read plastic cards embedded with either a barcode, magnetic strip,
computer chip or another storage medium.

Options:

1 % bar code reader

> « card readers

&,

= % blometric scanner

4 % IRIS scanner

Question Number : 52 Question Id : 7559051432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



T Bwey F oy few mnR o

e T AT ITHUT § S A, R 9g, FegeT Y o B aew siEnm mneas
F T THEEE THIieE FE 9T THd £
Options:

, % SIS ST (bar code reader)
, » 18 ST (card readers)

. « SAATEE FHAT (biometric scanner)

., = IRIS T (IRIS scanner)

READING COMPREEHEMNSIOHM
Section Id : 755905175
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 755905175
Question Shuffling Allowed : Yes

Question Id : 7559051433 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension



Baunning a business

Commg g store with all alicaclive tlones oo display can confuse a
shopper. There are so0 many stores and web sites that ane does nos
beneerr wehint to bary and froen whore.

A customer mey be looking for convenieace, good service or the bes:

deisls,

Stope owners need to understand their customers™ mind o they can

plan their strategics to refrain them from switching lovalties.

To sobve this problem. compuler sciemssts Rigesy Sharma, Satish
Mumrpereddy aod their collsagues developsd o softwue which can
analyse fhe shopping bebaviour of cusiomers, Shamma’s company,
Wideo Mining, vses overhead carmeras 1o fake a top dowm view of o

people shop wad whal by buy.

They alze tack the wovement of shoppers anpund the stose 1o ety
the beavily trafficked areas from the dead ones,

By digitallv apalysing the movement pallesn in the stove, they can
analyse shoppers” preferences for & produect, their moods, fime taken by

conswmers to arrive af the fingl moment of bmth befors a produet is

Donphl.

The cameras are placed dght overhead and the pioture resclution is
intentionally ser low 2o all shoppers remain anomamens and are no

easily identifiable.

The compaler s actually waiching the video and penerating numbers
thiat epresent each shopper's behaviour so veu can really wnderstand
rremeks when monitorad over a long pariod of time,

The softweare alao records individial shopper prefarences, For inatance
some shoppers prefor shopping for branded products whereas othiers
may prefer ease of pwobility berween shelves, It alse recards gender
behaviour such as fime raken by men and women o take decisions and
finally those whe have no preconceived ideas bt buy a prochicr after
conzidering its price and other attribufes.

Aqmed with this teclndcal data, Shanne end his team guide retailers
and manufaciurers about the placement of products, or dasign intaciars
keeping in mind shoppers” comfort and ease. Also, retailers and
manafacturars can strategize ko to mateh produacts to their customsees®

Interests.

In a ficrecly competitive nmacket it iz wery czsential for business houses

foday o devise methods o ensure their cusiomers do not go away,

“Thiz softorare will help them do 50,7 savs Sharma,



Sub questions

Question Number : 53 Question Id : 7559051434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The passage is about:

Options:

, w Tecording customer choices and preferences.

-~ % the importance of redesigning stores.

- » the placement of cameras at strategic points.

4 « finding ways to retain and attract customers.

Question Number : 54 Question Id : 7559051435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The resolution of the cameras is deliberately kept

low because:
Options:

, % their role is just to record the number of shoppers.

their purpose is limited to recording consumer
> % behaviour.

o  the customers® identity has to be kept confidential.

4 % they help retailers keep an eye on shop lifters.

Question Number : 55 Question Id : 7559051436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Retailers and business houses are struggling hard to:

Options:
, « cope with varying demands of shoppers.
- % Pphase out old products with branded ones.

= % lure new customers and retain old ones.

4 % provide quality of service and space to shoppers.



Question Number : 56 Question Id : 7559051437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to the author, web sites and shops tend to

Options:
, w attract shoppers

-  confuse shoppers

- % promise better services

4 % introduce new brands

Question Number : 57 Question Id : 7559051438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
“This software will help them do so.” The word

‘them’ in the line refers to:
Options:
1 % customers

> % shoppers

5 = Wweb developers

4 « manufacturers

Question Id : 7559051433 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 7559051434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TTeaTeT T s H 87
Options:

, » TR & e AR THg ReFE waT

, » BRI & O ¥ BSmsa = &1 #Agcd
- ot fEgt 9T A3 T FAEE

AR T TAT (@A AT FFHOT F = & o

4 v TET QI

Question Number : 54 Question Id : 7559051435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HIA & IS (resolution) FT ATTHFT FH FAT
TGT AT &7

Options:

IHH HAFT o %ﬂwlrlc'.,l-{\l- #r TEIT e
| % FA FE

3AHT 329T, 3TAFAT HGgR =T Ik &
. » WIAT gl

- » TTEH T T F NIAT W FAT =110

T gFE ¥ A A T W A WA A
, » a0 TEERET # Feg F

Question Number : 55 Question Id : 7559051436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Getr fashar 3R sariies o F3 Agad HAT
w87

Options:




IAERT FT 37T - HoIT AFIT & WTHAT FHIAT 92 &
1.@"%t

= [ 3e9ET H AT F13T 3q9ET ¥ T TS
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IR T AT Hl IR T 9 F 1 2T 2

4 ®

Question Number : 56 Question Id : 7559051437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

qWF F HAN, I WS AR g & AT
Sged ST 2

Options:

| % TUERT B HHET FA
5 v GUERT @ #AT F&
5 » SEaX WaTHT FT UG FLA

. % AT SISH & 9=T &

Question Number : 57 Question Id : 7559051438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

‘g TFEITT 3o¢ UHT +a H AGE HOMI' 999 &
‘Iee e FT TSH T gl

Options:

1 ® ng”ﬂ

o W m}ﬁ-
o ® éﬁ'%ﬁ?—t‘qﬂ'
4 RATarst



QUANTITATIVE AFTITUDE

Section Id : 755905176

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 755905176
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 7559051439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of the question mark (?) in the following question?

(4x4)P+-(512+-8)*x (328 =2 x2)"*
Options:
1 ® 5

2_&312
3. ¢ 6

4 ® 14

Question Number : 58 Question Id : 7559051439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fefafea 9o & geafes (?) & e 9 F#41 H0em?
(4x 4)%+ (512+ 8)* x (32x 8)* = (2 x 2)"**

Options:

1 ® 8
- ® 12
3¢ 6

g4 ® 14

Question Number : 59 Question Id : 7559051440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
What approximate value will come in place of the guestion mark (7) in the follewing guestion? (You are not expected to
calculate the exact value).

a3
*’{'lx LR ; an y
El] Bl 21
Options:
;. ® 520

5 % 360

4« 420

Question Number : 59 Question Id : 7559051440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
frafafae v & TafREa (7) & T 97 T J1E FT AT (AT W AT Fr Torar /8
ExcilA)
601 399 20
# = =7
49 7 81 201
Options:

% 520

, % 360
. = 460

4 v 420

Question Number : 60 Question Id : 7559051441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Raju muns 1250 m on Mondays and Fridays. On other days be mns 1500 m except on Sundays (He does not run on

Sundavs), How many Kilometres will he run in 3 weeks (first day starting from a Mondav)?
Options:
1 ® 12.5km

> % 20.5km



Question Number : 60 Question Id : 7559051441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T BrAER #iT FEr #1250 Hrew gz g WEn # ome 37 wey REr 1500 ARy dEar ¢ (=
TaEm Fr 727 gz &) 37 A9 o= § e BT (98 BF §En § 9RY #9F) gtz 3T

Options:

| % 12.5 frameT
> % 20.5 forersreT
- « 25.5 TRarrReT
4 » 8.5 ToeaTeT

Question Number : 61 Question Id : 7559051442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Meena purchases 1500 ml of milk every day. Tf the cost of ope litre of milk is 344, how much amount will she payv in 20
days?
Options:
1 ® % 1.340

o T1820

5 » 1280

4 % 1260

Question Number : 61 Question Id : 7559051442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
H# & U 1500 ml g9 TEAT ¥ T vF @ gy #1 A 44 ¥ A 37 20 RF #F e apEw
T

Options:

. % T1,340
oo T 132D
% 71,280

>

. » 1,260



Question Number : 62 Question Id : 7559051443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Shashi had a certain amount of money. He i[t%‘r:—;lrﬂi of the total money in scheme A for & yvears and the rest of the
money in schame B for 2 vears. Scheme A offers simpie nterest ar the rare of 12% pla. and scheme B offers compotind
nterest (compound anmaallv) at the rate of 10% p.a. If the total sum obtained from both the schemes is 2,505, what
was the total amount invested by him in scheme A and scheme B together? (approximate value)
Options:

1 % 4.500

- » 4,200
5 » 34,050

4 v T5.100

Question Number : 62 Question Id : 7559051443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| % T4,500

, » 4,200
. x 4,050

.+ 25,100

Question Number : 63 Question Id : 7559051444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Ashok left from place A for place B at & a.m. and Rahul left place B for place A at 10.00 a.m. The distance botween

place A and B s 637 kme IF Ashek amnd Rabul are rravelling ata niform speed of 3% km'h and 47 kovh respectively, at
what time will they meet?

Options:

| % 5:30 pm

5 430 pm



5 % 5 pm

4 % 4pm

Question Number : 63 Question Id : 7559051444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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GEMEREAL MEMNTAL ABILITY AND REASCRMING
Section Id : 755905177
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905177
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 7559051445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following smangement of letters, digits and symbols 1o answer the guestion given below:

ABTCDOZY*P2MEKSITINT @

Howr many such digits are there in the sequencs, each of which s immediarely praceded as well as followed by a letter?
Options:



-~ % One
= % Two

4 « Three

Question Number : 64 Question Id : 7559051445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 65 Question Id : 7559051446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following amrangement carefullv to answer the question below:

MIESRBIAKTE#OSUDINSG6MFHI@EEW

How many such consonants are there in the above sequence. 2ach of which is immediatelv followed by a pumber and
immediatelv preceded by a vowel?
Options:

~ % One
= o Two

4 % Three

Question Number : 65 Question Id : 7559051446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 66 Question Id : 7559051447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Among the following words, which one will come second when they are arranged in an order as thev would appear in
an English dictionary?

Options:

| « Leprosy

-~ % Lessen

= % Lesson

4 % Language

Question Number : 66 Question Id : 7559051447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
, « Leprosy

> % Lessen

z % Lesson

4 % Language



Question Number : 67 Question Id : 7559051448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Among the following words, which one will come third when they are arranged in an order as they would appear in an
English dictiomnary?
Options:
1 % Research

> % Rational
= « Round

4 % Rustic

Question Number : 67 Question Id : 7559051448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1 % Research

- % Rational
= + Round

4 % Rustic

Question Number : 68 Question Id : 7559051449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose a word from the given options that is similar to the given group of words and hence belongs to the same group.

Corges : Canyons : Meanders
Options:

1 % Moraines

- # Tributaries

3 « Deltas

4 % Mountain

Question Number : 68 Question Id : 7559051449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 69 Question Id : 7559051450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The given words are related in some way. There is the same relationship among the words in one of the four options,
Find the correct option.

Hair : Brush ; Wig
Options:
1 « Iron : Hammer : Axe

> # Bread : Butter : Milk
- % Cement : Brick : Building

4 % Paper: Pen : Pencil

Question Number : 69 Question Id : 7559051450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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GEMERAL AWAREMNESS

Section Id : 755905178

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905178
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 7559051451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Vikram Sarabhai Space Centre (VSSC) is located in:

Options:
, « Thiruvananthapuram

> % Mumbai

5 u Hyderabad

4 = Bengaluru

Question Number : 70 Question Id : 7559051451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 71 Question Id : 7559051452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Dhyan Chand’s name is associated with which game?

Options:
1 # Football

> % Badminton

5  Hockey

4 % Tennis

Question Number : 71 Question Id : 7559051452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 72 Question Id : 7559051453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the exfoliation?

Options:

1 # It is the formation of round rocks shells

- % Itisthe formation of simple rock shells

= % It is the formation of horizontal rock shells

4 « It is the formation of curved rock shells

Question Number : 72 Question Id : 7559051453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 73 Question Id : 7559051454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Consider the following statements:

1. The Taxus tree is naturally found in the Himalayas.

[

The Taxus tree is listed in the Red Data Book.

Lad

A drug called *taxol’ that is obtained from the Taxus tree is effective against Parkinson’s disease.
Which of the statements given above is / are correct?

Options:

, » lonly

> % 2and3only

-  1and2only

4 % 1,2and3

Question Number : 73 Question Id : 7559051454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 74 Question Id : 7559051455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Panchayati Raj system was first started in India in the states Rajasthan and

Options:
1 ® Uttar Pradesh

u

&,

> « Andhra Pradesh
- » Gujarat

Harvana

Question Number : 74 Question Id : 7559051455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 75 Question Id : 7559051456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Match List-I (publication) with List-IT {publisher) and select the correct answer using the codes given below the lists;

List-1

List-IT

B. Economic Survey

A. Report on Currency and Finance

—

., Beserve Bank of India

It

Ministry of Finance

C. Wholesale price Index

Ministry of Conunerce and Industiy

D). Wational Accounts Statistics

s

The Ministry of Statistics and Programme Implementation

Code: A B C D
Options:

1.+ 1

[
%]

4
> %2134

3.3343

It
—

4% 431

[

Question Number : 75 Question Id : 7559051456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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English Typing Test

Section Id : 755905179

Section Number : 1

Section type: Typing Test
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Section Marks: 0

Display Number Panel: Yes
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Question Shuffling Allowed : No

Question Number : 76 Question Id : 7559051457 Question Type: TYPING TEST Display Question Number : Yes

Surnmer camps are supervised camps conducted to entertain as well as equip students with warious life skills
such as tearmwork, socializing, decision rraking, ndependent and responsible living and more. [t aids the
overall development of a child and children hawve fun during this process as they get to explore new arenas.
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English Typing Test

Section Id : 755905180

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905180
Question Shuffling Allowed : No

Question Number : 77 Question Id : 7559051458 Question Type: TYPING TEST Display Question Number : Yes

Science contributes to an overall understanding of how and why things worlk. [t explains the reason behind the
daily functioning of complex systerns, right frorn the human body to modern transportation. Students and
children are able to use this knowledge to understand and learn new Concepts, pursues new interests and make
well-informed decisions. It also provides tactical and visible proof of many facts we read in books or see o
television. Science knows no boundaries as it is a universal subject. After vears of active and persistent efforts,
srience Claimed to be a part of the school curriculum and got recognized. Science has proved to be an
important aspect of the existence of man and has has completely transformed human life. Supremacy of
Science has now been established in every field and thus it is necessary to educate the students about what is
Science and where is Science. The tempo of our lives has also been quickened. A new social and political
outlook has been given to the man altogether. Hence, the study of science has becorme a riecessity in this age.
Here is why it i3 important to learn the wonders of science at the school level. Science provides exclusive
teaching on inspection and reasoning. It makes the students form an objective judgerment. Science learning is
very helpful for our supervision in life. We exist in a world of scientific inventions. 5o, science education
cannot be ignored. Science is taught to offer training and knowledge of scientific methods. Science has its owrl
literature and cultural values. The scientific discoveries are treasures for mankind and hence science has won
the first rank in Hurnanistic studies. Science has effective walue. It instructs the children to use their quality
tirme properly and is clearly illustrated in scientific hobbies. Awareness of the methods of observation and
experimentation in the different fields of Science helps students develop a logical brain, a significant
judgernent and a capacity for disciplined organization. Science is considered to be the most valuable element
in the education of those who show special ability. It provides discipline of mind. Apart from this, science has
blessed us with various kinds of gifts, like electricity, mobile and interret that we use in our daily lives. The
study of science and technology proceed as an everlasting desire to obtain knowledge. The more we know of
the secrets of nature, the more we understand how much remains unidentified. Now scientists talk about the
wonders of nature with an exciternent of emotion. We are learning diverse range of things, like the secrets of
the molecular cells in a living organism and the atoms in space. 5o, the modern syllabus of studies must
comprise the study of science and technology.
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